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π0 invariant mass θ[0-30]

Event selection:
1) Exclude beam-trips
2) Hycal trigger
3) Tcounter: 1~18
4) 0.5 GeV < Eᵞ < 7 GeV
5) 3.5 GeV < Eᵞᵞ < 8 GeV



Study tdiff

Mean = mean1 + ratio*mean2 = 0.13

Sigma = 1 − 𝑟𝑎𝑡𝑖𝑜 𝑚𝑒𝑎𝑛1 − 𝑚𝑒𝑎𝑛2 2𝑟𝑎𝑡𝑖𝑜 + 𝑠𝑖𝑔𝑚𝑎2 + 𝑟𝑎𝑡𝑖𝑜 𝑠𝑖𝑔𝑚𝑎22

= 1.67
Tdiff cut: 4 sigma, -6.55 ~ 6.81 ns



Before and after tdiff cut

Before Tdiff Cut After Tdiff Cut

Maybe relax Tdiff cut?



Study elasticity

Mean = 0.9854
Sigma = 0.0236
Elasticity Cut: 4 sigma,  0.891~1.0798

Sideband subtracted



Procedure:
In time: h1 = π0– empty 
Out of time: h2 = π0– empty 
In time – Out of time:        h1 – h2



π0 yield



Inelastic π0



Inelastic π0





After removing inelastic π0


